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5DO4 [,4AT : LINEAR PBOGBAI\,IIJIING

SECTION-A

Answeralllhe questons Each q u€ slion cades one mark

'. whdr do/oL r'-r1b.,J,. \"I"br" in L P P

2. Give a n ecessary and sril c ent condltion Io r lhe ex ste n.e oi a leasible solulion to
the genera lransportel on problern

3 Dejine theternr loop associaledwlh alranspodal ontable

4. When do you say thai a I ranspoi(at on proble m is baLan.ed ? {144= )

SECTION B

AnsweranyG quesl ons Each ctuestio. carlestwo marks

r \Andrr ' e " o- 'loro P.P. W 'r 
p .. dd' " l

6 q6o 6r.'oor !tFP o." r "rd',on
Oelermine x j :O x2:0, t3>O so as lo maximiz-^ z = 2xi + xz + 4x3 subiecl to the

conslralnls r 2rr +'1x2 ! 4 xr r 2x, + x!:5.2x' + 3xi.2

7 Grve th€ mall-renat caLiorm! at on ol lhelolowing Djet problem

Given the nulrienl cont€nts ota nlmber oi d flerentioodstrrfls a.d lhe.laiLy m n mum

req! renr€nl of each nltrlenllor a diel. delerrninc Ihe tra anced Lljcl which sal si ed

ihe minimunr.la y reqLr renrefls andatthe sameum. hasthe mlrimrm cost

L Obia. the dualo' lhelo ow ng L.P.P :

waxmzei(x) 2xr r 5x2 + 0x3 subjecl lo lhe.onsiraitts

5xj+6x2 t113, 2rj rx2+4\i4 xr 5x2+3xi:1 3x1 3x2+7r3::6
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9 Stale ihe res!l connecling linear dependence and loops in a lranspoiralion problem.

l0 Whal is meant by degeneracy rn transportalion prob em ? How do you resolve
degeneracy aithe inli a soluiion ?

1 1 . Obtain an in tia basic feasible solulion to the fol owing lra.sponal'on problern us rrg
ihe north wesi corner rule

12 Obtain an lnil albaslc ieas b e so ulion to the lollowingiranspoiation problem using
the matrix m n ma method

ol e

1 3. Explain lhe assignment prob em and ils mathemalical to rm !lalion

5 rllo\ c
Answer any 1 quesiion. Each qleslion carr es rou r ma*s

14. Use simllex method lo solve the L P.P.

Maxmrze z = 3x1 + 2x2 slbjecl lo the consiralnis l
xr + x2 < 6, 2xr + x2 < 6, xr >0. x2:0

1 5 So ve the ioilowrnq lransponaion prob em :
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